
DESCRIPTIONID PART QTY REF.

Ref.: 5652

25 min1 person

Innnteeermmmediate

DDDiffifificcuuullt

SCREEN WITH SELF-ADJUSTABLE SYSTEM FOR

TRIUMPH TIGER 800  ’15- ’17

Nº 3
Nº 4

ALLEN

Pg. 1/4

Screen

Mobile right support

Mobile left support

Fixed right support

Fixed left support

Ø20 x Ø6 x 5mm plastic conic washer

M5x16 ISO 7380 Allen screw

M6x20 DIN7991 Allen screw

Ø15 xØ9 x7,5 bush with fl ange

Fixation Knob M8

Ø20x Ø9 xØ7,5 Silentblock

M6 Silentblock

M5 DIN985 nut

Ø14x Ø8 x1 nylon washer

M6 DIN7991 screw cap

1

1

1

1

1

2

2

2

2

2

2

2

2

2

2

5652H/F/N/WM3

SOPOR-4P-9-5652

SOPOR-4P-9-5652

SOPOR-4P-9-5652

SOPOR-4P-9-5652

ARANDENND20-030

TORNI-I7380-493

TORNIAD7991-129

CASQUI-1A---324

POMOFIJACION-76

SILENB000000036

SILENBTM6-046/2

TUERCA-D985-535

ARNV00000000265

TAPON--------81

1

2

4

3

5

6

11

7

12

8

13

9

14

10

15

16 M8 DIN934 nut 2 TUERCAED934-068

 Easy

https://www.motorcycleid.com/puig/


    
    

     

Pg. 2/4

43

21DISASSEMBLY

DISASSEMBLY

PUIG SCREEN

NON-REUSABLE SCREWS.

PUIG SCREWS.

PUIG SCREWS.

DISASSEMBLY

DISASSEMBLY



    
    

     

PUIG SCREEN

Pg. 3/4

7

65 ASSEMBLY

ASSEMBLY

ORIGINAL SCREWS

ORIGINAL SCREWS

ASSEMBLY

REPLACE PUIG SCREWS BY ORIGINAL SCREWS REMOVED IN DRAWING 3.

A

A

A

A

A

A

A

A



Pg. 4/4

EXPLOTING

15
7

6
9

10

11
12

13
1211

13

14

14

2

4

10

3

8

8

9
6

7

15

5

NON-REUSABLE SCREWS, NOT SUITABLE FOR MOUNTING SCREEN IN THE VEHICLE.

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

